Séquence de Nombres Linéaires (G)

Remplissez les nombres qui manquent de chaque nombre linéaire.

! ! !
4395

!
4355

!
4345

!
4335

!
4325

Différence commune:
| | | | | | | | | |
| | | | | | | | | |
8960 9060 9210 9260
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
6236 5936 5736 5636 5436 5336
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
2039 2114 2139 2164 2214 2239
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
2318 2308 2303 2298 2293 2288 2283
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
1825 1835 1865 1875 1885 1915
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
4398 4498 4598 4648 4698
Différence commune:
| | | | | | | | | |
| | | | | | | | | |
966 866 766 566 166

Différence commune:
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Séquence de Nombres Linéaires (G) Réponses

Remplissez les nombres qui manquent de chaque nombre linéaire.

| | |
4405 4395 4385

! ! !
4375 4365 4355

!
4345

!
4335

!
4325

4315
Différence commune: -10
I I I I I I I I I I
8860 8910 8960 9010 9060 9110 9160 9210 9260 9310
Différence commune: 50
l l l l l l l l l l
6236 6136 6036 5936 5836 5736 5636 5536 5436 5336
Différence commune: -100
I I I I I I I I I I
2039 2064 2089 2114 2139 2164 2189 2214 2239 2264
Différence commune: 25
; ; ; ; ; ; ; ; ; ;
2328 2323 2318 2313 2308 2303 2298 2293 2288 2283
Différence commune: -5
I I I I I I I I I I
1825 1835 1845 1855 1865 1875 1885 1895 1905 1915
Différence commune: 10
; ; ; ; ; ; ; ; ; ;
4298 4348 4398 4448 4498 4548 4598 4648 4698 4748
Différence commune: 50
| | | | | | | | | |
| | | | | | | | | |
966 866 766 666 566 466 366 266 166 66
Différence commune: -100
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